10.

{a) Define the ferm “altemating path’.

(2)
Adam B {Dames Blonds)
Daniella {Carman)
Henry F  (Scar Flaws)
Min-Seong K  (Sword of the Kings)
Robert P (Ha! Repotter)
Sam I  (5py Derman)

The bipartite graph in the figure above shows the films that six customers wish to hire this
Saturday evening. The shop has only one copy of each film. The bold lines indicate an mitial
matching.

(b) Starting from this mutial matching use the maximum matching algenthm twice to obtain a
complete matching. You should clearly state the alternating paths that vou use.
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